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Percentage fraction

528.56% ?
?
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Q1. A person wants to find 3.5% of a number. Instead of that he found 5.5% of that

number and the answer the 220. find actual answer ?

Teh STk foRET TEAT T 3.5% FATA HEAT ATEAT gl SHh TT1T 39 3T H&AT T 5.5%

3T 220 HT IR AT TTEATIR I EisT
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Q2. A body is asked to find 17.5% of a number. Instead of that he found 21% of that

number and the answer was 210 more than original answer. Find actual answer ?

T TR ot foret H&AT T 17.5% 1A i o {10 T ATAT 21 30k IS 384 39

T T 21% UTAT AR IH HeA I H 210 SATereh oAT| Trdfereh I W
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Q3. The difference of = of a number and 25% of the same number is 620. Find

32% of that number ?
Tk HEAT o 4/5 3T IET AT ok 25% Rt 3R 620 Tl 39 GEIT hT 32% T hIfSTU
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Q4. If price of petrol increases by 20%, a person would buy 2 L less petrol for

Rs.750. Find old price of petrol.

Ife Y2reT Bt R 20% T AT 7, oY Teh =Tk 750 TUX | 2 Tt /A Y2 et TRl

UZIeT shl QLT ShIHd ST Tl TG
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Q5. If price of diesel increases by 40%, a person would buy 4L less diesel for Rs.700.

Find original consumption of diesel.

Ife STt shl hHd 40% T ATAT 2, AT Uk Tk 700 T T 4 e v SiTed @A
ErTeT hl ATEA TR @Ud T UdT e
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Q6. A person buys milk of Rs.400 per day. One day there is discount of 20%
thereby person buys 1.6 L. more milk. Find quantity of milk he usually buys.

Ueh <k Ufafa 400 TOA T T WAt 21 Tk faT 20% i ge et & s saf®
1.6 =TT 3rferers gor TEaT 81 918 ATHAR WX fehe=T g8 e 22
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Q1. Anshu saved certain amount to give certain gift to her son on the occasion of his
birthday. Due to some person she spent 15% of the total amount. Now by what
percent-age she has to increase the remaining amount so that she may buy the git for

her son ?

Y X U I Tl Ik FHIGA h ATE W FS IUSR 3 o 18 5 T g forsdt
ST o HIUT 3T THeT AT HT 15% T [hAT| AT IH AT AT 1 Toha~r afawra 6
AT Tk TGHT § ATieh o8 37U o o fo1g Fie @iig @
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Q2. If base area of a cylinder increased by 14;% then by what percent height

should be reduced to keep volume same ?

If Teh I oh TUAR STHA 14% % ShT Jfg BT & AT HATAAT hl THH T & 1T
Farg fehas aiavra A AT AT =TT
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Q3. According to new rules of government, number of seats in theatre will reduce
by 20%. By how much percent price of ticket should increase so that there may be

no change in revenue ?

YRR o T FaHT o gatiees faget # Hiet sht H&ar | 20 et shy wHT St feehe
o o | foha Tfaerd sht Ffeg sht T aTieh Treat ® i TRad= 7 &t
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Q4. An agent increased his commission by 30%. Due to that number of customer

reduced by X%. Find value of X if there was no change in his income ?

T TSIE = 37U HHIIH T 30% hY Tig Tl TH T918 | UATgeh! hl TEAT H X% <R HHT

AT B e STehY o1 § g Uiad= T 21aT v X T °1 FTd hI 0
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Q5. If 40% more workers are hired and etficiency of workers is 25% more than

previous one then find percentage change in time taken of finish certain piece of

work.

ATE 40% TEreR HTHERT R HTH U [T SATAT § 3T ATHehT T FeraT {UDer Uk ht qer
H 25% 3ATereh B, A o i o ot O ot § o0 STt THT | Tt aied {a

it
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Q7. Price of petrol increased from 60 to 65. By how much percent a family should

reduce its consumption of petrol to keep expenditure same ?

U2iet <hl SR 60 T TEHT 65 B TS| T ohl GHTT WA o {70 Ueh U@ sl Ueret <ht
@Ud | TR TTavTa shl ST i TTRT
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If price of the ticket increases by 40% and number of seats reduced by 10% then

find percentage change in income

?Jﬁr [Cahe T hIAT 40% ¢ JATdr g 3 et fr a&ar 10%
H 8 Jdr g ar 3 & gfaerd 9Rada g Hifaw
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Price of sugar decreased by 20% and expenditure increased by 105 so consumption

of sugar in a family increased by 15 kg. Find initial consumption

EIGIRCTE

g5, 3AfAV U IRaR A

é’él OR TS

U

olelqd@-@r

C

'\Id-d px) AN ﬁ' HH) 65 3—ﬁ{ cJ3 pa

AT T @aa H

15

105 I ge e

Aol ShT qu??r

C




PERCENTAGE — DAY 1
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10%. Find percentage change in area

ITeldl :

§¢ B

\

&a3%hel H

Ueh 3 ol odis 20% &+

ﬁﬂémaﬁgrém%

EIGE

dtlﬁil?fldc

c1dlIC
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Base area of a cylinder increased by 30% and height increased by 10%, find

percentage change in volume

Ce

> dofe] o 3TN &

Thol H

O%cﬁqq'%rgé 3

IJde] H

30%
SITSF

cl

I gefT TuUr Iag A

o Jllqa ©
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If length of a cube increased by 10% breadth reduced by 20% and height

decreased by 30% then find percentage change in volume

gfe Teh g &1 ofdls H 10%
$I HAl g5 AR a1 H 30%
gfaerd GRddel ATd hiToTT

$T IefT g5, T H 20%
$T FA g, ar T A

No
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Length of a cube increased by 15%, breadth reduced by 10% and height becomes
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double. Find percentage change in volume

Ueh Gl I oIS 15% &6 oIrdl &, disie 10% &+

o

g 3R A5 a9

ST 9dT o9

Gl

gl STl g1 3

IJde] H

EIGE

gl ST

dtlﬁa?'i?rr
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Base radius of a cylinder reduced by 10% and height increased by 20%. Find

percentage change in volume

Ueh Soled T TR Fsar 10% & 8 Siiar & 3R >a1s

20% &¢ SITaT g1 3Ide & 9fard 9Rddel &l 9al o9Mmu
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